Efficiency vs p_

~0.07
o
£9.009
>
9.008
o
£.007
0]
0.006
0.005
0.004
0.003
0.002
0.001
0

Ea
i

i
+

Ratio
=

107t 1 10 _?_szT (Ge\})OS

—=— DQM_CKF_QCDHighPt_base

—— DQM_CKF_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch2

=0.0l— —
0.000F -+ ite|-ooee oo | 1
D.008F -+ {f{-{ -+ eireeeeo SRR S | § SO
o F . : : ]
5)007:— ----- -l R CREETEE Peeneee e ARPEPRRE
0.006F -+ g +++irereeees SRRSO |} SO
0.005F- -+ {f{-{ =i+ S e
0.004F - {i-{-f -+ {f-- oo b oo ol
0.003F- -+ iy lgh o ffeooeebee oo |
0.002F----[HE{-HHi-|F B | 11
0.001E {1 [T IEL o A a0 e 20 10T
o O?....i....|....|....i....|....
= | SRR Tttt 1

-1 0 1 2 3

Efficiency vs ¢

o 0.01- - - .
0 : : : : : : :
Q.OOQ: ------- preeee P acacees oo
I 3 : . : . . .
&.008f -+~ peeeeee e Feneeees e
S : : : : : :

.007F
@ :

-+
£
----- o
|

- q g

TP @



	Contents
	Page 1


